
UNIT 15 VOCABULARY: PLUS

1	 Complete the words for clothes and accessories with
the missing letters.

1	 d r  e s  s  
2	 T- _ _ _ _ _
3	 j _ _ _ _
4	 s h _ _ s
5	 g _ _ _ _ _ _
6	 s h _ _ t
7	 t _ _ _ _ _ _ _
8	 j _ _ _ _ _
9	 d _ _ _ _ _ _ w _ _ _ _
 10	 s k _ _ _

2	 Put the letters in the right order to make words for
describing people. Then match the opposites.

1	 gnouy   young  B 	 A  ilsm	
2	 taf  B  ldo	  old

3	 tlal  C � thors ahri 
4	 gnlo riah  D  hstor 

3	 Complete the phrases for describing people with the
missing vowels.

1	 a  r e d  n o s e 
2	 b _ g  _ _ r s
3	 _  b r _ w n  b _ _ r d
4	 d _ r k  h _ _ r
5	 b _ _ _ t _ f _ l  _ y _ s

4	 Choose the correct words to complete the sentences.

1	 Zeynep has got  new shoes  / a new dress for running.
2	 Charlie wears jeans / glasses to help him see.
3	 Mia tells the time with her digital watch / shoes.
4	 Martin wears a jacket / T-shirt when it’s hot outside.
5	 Harry wears a shirt and trousers / jeans because he 

works in an office.
6	 Rosa wears a skirt / coat to keep warm when she 

goes outside.
7	 Stella wears long shoes / a long dress when she goes 

to a party. 
8	 Monica wears a skirt / jeans at school in summer so 

her legs don’t get hot.

5	 Put the words in the right order to make sentences.

1	 slim, she / is / My aunt / isn’t fat.
 My aunt is slim, she isn’t fat.

2	 beautiful / She’s / eyes. / got

3	 hair. / dark / got / She’s

4	 jacket. / and a / a dress / She’s / wearing

5	 likes / skirt. / She / a / wearing

6	 trousers. / doesn’t / She / wearing / like

7	 shoes. / She’s / lots of / got

8	 a new / She’s / T-shirt. / got

6	 Complete the conversation with the words in the box.
There are three extra words.

beard    dress    driver    ears    firefighter   
glasses    hair    journalist    meets    red    
short    watch    young

A: � Is your uncle tall?
B:  No, he’s 1  short .
A:  Has he got long 2  ?
B:  No, it’s short.
A:  Is he 3  ?
B:  No, he’s old.
A:  Has he got a brown 4  ?
B:  Yes, he has.
A:  Is his nose 5  ?
B:  Yes, it is.
A:  What is he wearing?
B: � He’s wearing a shirt and jeans. He’s got 

6  because he can’t see very well, and 
he’s wearing a new digital 7 .

A:  What does he do? Is he a lorry 8 ?
B: � No, he isn’t. He’s a 9 . He 

10  famous people and writes about 
them for a newspaper. 

PHOTOCOPIABLE © Cambridge University Press & Assessment 2022 PREPARE UKRAINIAN EDITION GRADE 5 

PREPARE UKRAINIAN EDITION GRADE 5



UNIT 15 VOCABULARY: PLUS ANSWER KEY

1
2	 T-shirt
3	 jeans
4	 shoes
5	 glasses
6	 shirt
7	 trousers
8	 jacket
9	 digital watch
 10	 skirt

2
2	 fat	 A  slim
3	 tall	 D  short
4	 long hair	 C  short hair 

3
2	 big ears
3	 a brown beard
4	 dark hair
5	 beautiful eyes

4
2	 glasses
3	 digital watch
4	 T-shirt 
5	 trousers
6	 coat
7	 a long dress
8	 a skirt

5
2	 She’s got beautiful eyes.
3	 She’s got dark hair.
4	 She’s wearing a dress and a jacket.
5	 She likes wearing a skirt.
6	 She doesn’t like wearing trousers.
7	 She’s got lots of shoes.
8	 She’s got a new T-shirt.

6
2	 hair
3	 young
4	 beard
5	 red
6	 glasses
7	 watch
8	 driver
9	 journalist
 10	 meets
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